Class X
Mathematics
Introduction to Trigonometry - Module 1 / 3
Worksheet
1. [bookmark: _GoBack]If sin A =  , calculate cos A and tan A.
Solution:
[image: NCERT Solutions for Class 10 Maths Chapter 8 Trigonometry Exercise 8.1 PDF Q3]

2. In the given figure, find tan P – cot R. 
Solution:
[image: NCERT Solutions for Class 10 Maths Chapter 8 Trigonometry Exercise 8.1 PDF Download Q2]
3. Given sec θ =  , calculate all other trigonometric ratios.
Solution:
[image: NCERT Solutions for Class 10 Maths Chapter 8 Trigonometry Exercise 8.1 Q5] 
4. Given 15 cot A = 8, find sin A and sec A.
Solution:
[image: NCERT Solutions for Class 10 Maths Chapter 8 Trigonometry Exercise 8.1 Free PDF Download Q4]
Solve the following

1. In a △ ABC, right angled at B, AB = 24 cm , BC = 7 cm. Determine
    (i) sin A , cos A (ii) sin C, cos C
 2. In fig., find tan P and cot R. Is tan P = cot R? 

[image: R D Sharma Solutions For Class 10 Maths Chapter 5 Trigonometric Ratios ex 5.1 - 3]

3.In △PQR, right-angled at Q, PQ = 4cm and RQ = 3 cm. Find the value of
   sin P, sin R, sec P and sec R.
4. Given 15cot A= 8, find sin A and sec A.
5. If cos θ = 12/13, show that sin θ(1 – tan θ) = 35/156
6. If 3 cot θ = 2, find the value of
   [image: R D Sharma Solutions For Class 10 Maths Chapter 5 Trigonometric Ratios ex 5.1 - 19]
7. If tan θ = a/b, find the value of (cos θ + sin θ)/ (cos θ – sin θ)
8. If tan θ = 12/13, find the value of
   [image: R D Sharma Solutions For Class 10 Maths Chapter 5 Trigonometric Ratios ex 5.1 - 40]
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Then by Pythagoras’ Theorem,
AB? = AC? - BC?
= (4k)* - (3K)* .

- k- g TR

= AB = kJ7

cos A = AB _ Y7k _ 7
WTaE e

andtana=2C 3% _ 8

A Tk 7

s

¥E




image2.png
In right angled APQR,

[IRRTNTS

So,

[Pythagoras Theorem]

PR*=PQ’ + QR?
(13)*= (12)* + QR?
169 - 144 = QR?
25=QR’ = QR=5cm
QR_5
tanP= po=1
_OR_5
0tR=pq =12
S5 _
tan P -cot R = 12712 =0

12cm

13cm




image3.png
We have sec 6 = B
12

A=

12k
Let AC = 13k and AB = 12k
Then by Pythagoras’ Theorem,
AC? = AB? + BC* = 169k* = 144K* + BC?
= 169k*— 144k! =BC* = 25k* = BC?

= BC = V25k* =5k
sm()—E Sk s
T AC 13k 13
AB 12k 12
€osh =—="=_"Z=
AC 13k 13
tan @ »E(:-—Lk= 5
AB 12k 12
AC _ 13k _ 13
cosec = — = —— =
C Sk 5
-:ot67‘7ﬁ E




image4.png
= -8 AB _ 8 )2
15cotA=8 = cotA= j¢ = Be = |5
Let AB =8k and BC = 15k
In right angled AABC, 15k
AC*=AB? + BC? [Pythagoras theorem]
= (8k) + (15k)? = 64k + 225K = 289Kk* N
B
= C = V289K = 17k 8k
oo BC 15k _15
So, SinA=SC Tk 17
_AC_1k _17
and oA = ST = 3




